TR & SIV—T| BF | &F | Bmk] 6MS [ 5MS | 4MS [ 2MS | 6WS [ 5WS | 4WS | 2WS
INLR/ TR 9 10 19 3 1 3 2 4 1 3 2
BADENRIUA TR 3 9 12 1 2 4 4 1
LU -F/\F TR 6 2 8 1 3 2 1 1
HROAZT = I 3 2 5 1 1 1 2
RK/FD1=7 = 1 0 1 1
MCTa1=7 HE 5 11 16 2 3 4 3 4
ISR HE 4 6 10 1 3 1 2 3
Frlyr— BE 2 6 8 1 1 4 1 1
AEABC %BE 1 3 4 1 1 2
EHERD1ZT BE 5[ 11 16 1 1 3 4 4 2 1
HF/NRI A BE 2 1 3 1 1 1
FRYaA=7 BE 4 7 11 2 1 1 5 2
Ef¥rILX BE 2 4 6 1 1 3 1
4 EAngels BE 5 8 13 1 1 3 4 1 3
BrBRIAYT R BE 12 8 20 3 5 3 1 2 2 4
EEEF VIR %BE 4 5 9 2 2 2 3
BHYDR BE 5 13 18 1 2 2 5 5 3
WA/NRI R L 2 5 7 1 1 4 1
BEo1=7 1} 1 1 2 1 1
KRmEEJBC Lz 3 3 6 3 2 1
81 =7 gL 4 5 9 1 2 1 4 1
i/ NNFIh g 3 1 4 3 1
MA7IVIA 217 LE 2 3 5 1 1 2 1
fEH LT i 4 2 6 3 1 1 1
INERJr. INRSURY i 3 7 10 1 2 4 1 1 1
NP##ZI| I 14 9 23 3 2 5 4 4 2 3
Team RISE rEIINL 3 1 4 1 2 1
BERIL/ANRSURY [#E) 2 8 10 2 4 1 2 1
BEEILAY #HE)I| 2 0 2 2
tF a7 B 1 2 3 1 1 1
BRI LES 5 3 8 3 1 1 1 2
= IU/ARFIURY E4 M 1 0 1 1
oK a1=7 all 1 5 6 1 2 1 2
WED1=7 r=yl 1 9 10 1 3 3 3
FEJE/J_T FIE 1 4 5 1 1 1 2
ATz BN 5 7 12 3 1 1 1 2 4
jJ-r»r/:L_T A 4 4 8 1 1 1 1 1 1 2
FEEL YT 957 (AR 3 0 3 1 1 1
IZNUDAZT A 6 10 16 1 1 4 4 2 4
EFREINRIUL A 4 6 10 1 2 1 3 2 1
BHOA=T A 2 3 5 1 1 2 1
Glory Club 125 3 0 3 2 1
GPW a1=7 25 1 1 2 1 1
RKED21=T JtiEE 4 3 7 2 1 1 2 1
H{=/\FI kY JtiEE 5 4 9 1 2 1 1 2 2
Growth Family HE 2 0 2 2
WEXMP1=T = 3 4 7 1 1 1 2 2
BIlJr. INRSURY TRk 5 5 10 2 1 2 2 1 2
HERIGE =7 EEd 1 1 2 1 1
BRFOLZT FIE 1 0 1 1
BoL=7F B3 3 2 5 1 1 1 1 1
ME 1T =5F 1 0 1 1
/AR 5F 1 0 1 1
SHUTTLE KIDS BE 2 5 7 1 1 2 1 2
HHE B BE 3 0 3 2 1
SUMITFAR LU #5 2 3 5 1 1 1 1 1




TR & SIV—T| BF | &F | Bmk] 6MS [ 5MS | 4MS [ 2MS | 6WS [ 5WS | 4WS | 2WS
£HJISC iz 1 5 6 1 3 2
ARNVE—/ 8 3 2 5 1 1 1 1 1
F ¥ EJBC it 1 0 1 1
ot ey #ME) 4 4 8 2 2 2 2
BWED21ZT #HE)I| 1 0 1 1
FERERT—ILE 5% 1 2 3 1 2
RESL1=ZT Al 2 7 9 1 1 3 2 1 1
WA 1=T FE 2| 10 12 1 1 4 3 3
AHlEHRAR—YDER [#AK 3 0 3 1 2
SR =7 dtiEE 2 0 2 1 1
FLiRJBC dtiEE 2 0 2 1 1
TH/NRSVRY BE 3 5 8 2 1 2 3
FH=EIB AR 2 7 9 1 1 3 3 1
PN A N B3 3 6 9 3 2 2 2
ZEHJIBC = 2 2 4 1 1 1 1
AERILRE— BE 2 6 8 2 4 2
0L X i 2 1 3 1 1 1
BIERE rEI 6 3 9 5 1 1 2
Frmoai=7 Al 1 0 1 1
[ Lo 2 ey 4 FIE 2 2 4 2 1 1
WEAREDLZT FIE 3 0 3 2 1
SHYoaA=T mAR 1 0 1 1
TKINKIURY = 1 1 2 1 1
DOLPHIN ' S 12 1 0 1 1
25409 x5 —X |BF 2 2 4 2 1 1
B a=7 FiE 1 1 2 1 1
FHRHPES =T FIE 2 0 2 2
KFHR/NRIUIY I 1 6 7 1 1 2 2 1
=IO R %BE 1 2 3 1 1 1
EiE/ANARIURY s 2 2 4 2 2
#HBELZT HE 1 0 1 1
BE1=7 = 0 1 1 1
MPEVAZT HE 0 4 4 1 1 2
S-G-A BE of 10 10 3 3 2 2
TR R BE 0 3 3 1 2
b5 —X BE 0 1 1 1
AEILVRX BE 0 5 5 5
INIIRY—L BE 0 5 5 3 2
ACTVa=7 #E 0 1 1 1
HE1=T ' H 0 2 2 2
INBRINRSU RV i 0 2 2 1 1
¥ bILERR FiE 0 3 3 2 1
YY1 R 5 0 4 4 1 2 1
BEDLZT HR 0 3 3 1 1 1
WE/ANRSU R mAR 0 1 1 1
H=RAR—YDVER [HAK 0 7 7 3 3 1
SxhILAUR dtiEE 0 2 2 1 1
BiR/ARSURY AR 0 2 2 1 1
=3 Py 4 25 0 1 1 1
i o Ry B3 0 2 2 1 1
WES1=F HE 0 2 2 2
ANA4TIL— =% 0 1 1 1
KEM/N\F Lz 0 1 1 1
RGBT it 0 2 2 1 1
F—LA NN |HE 0 1 1 1
FEIKNRIURY #mEII 0 3 3 2 1




TR & SIV—T| BF | &F | Bmk] 6MS [ 5MS | 4MS [ 2MS | 6WS [ 5WS | 4WS | 2WS
NP R4 LS 0 1 1 1
EE1=T R 0 1 1 1
BINREDEM igE 0 1 1 1
B¥IZ7 iigE 0 1 1 1
INEDAZT R 0 1 1 1
A—ARILUE BE 0 2 2 2
I\BBBLAYP2=7 [#H 0 1 1 1
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